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PREVIEW QUESTION BANK(Dual)

Module Name : Law
Exam Date : 16-Jun-2023 Batch : 15:00-18:00
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Objective Question

L1651 e following table shows the income, expenditure and profit percentage of a company for six years from 2017 to 2022. Income and

expenditure figures are in Rs. million and the percentage increase in profit percent in year 2022 in comparison to previous year is 33:% :

Based on the data in the table, answer the questions that follow.

Year-wise details of Income, Expenditure and Profit of a company

Income Expenduture
Year Profit%
(in Rs. million) || (in Rs. million)
2017 103.824 - 12%
2018 - 83.8 25%
2019 95.76 84 -
2020 11328 : 20%
2021 133.1 110] :
2022 121.6 ] :

Note: Some values are missing in the table (marked as '-') that you are expected to calculate if required.
Expenditure of the company in 2022 is (in Rs. million)

94
.95
.90
.81

A 41 718 arfereeT H 9y 2017 I 99 2022 T B G & (1T U U=l o 31T, 49 3R A1y Wiawrd WeiRid 31 3R] 3R g & 3id =
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2022|1216 - -
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Objective Question
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1652 The following table shows the income, expenditure and profit percentage of a company for six years from 2017 to 2022. Income and

expenditure figures are in Rs. million and the percentage increase in profit percent in year 2022 in comparison to previous year is 33—%.

Based on the data in the table, answer the questions that follow.

Year-wise details of Income, Expenditure and Profit of a company

Income Expenduture
Year Profit%
(in Rs. million) || (in Rs. million)
2017 103.824 - 12%
2018 - 838 25%)
2019 95.76 84 .
2020 11328 - 20%)
2021 1331 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked a< '-') that you are expected to calculate if required.

Exoenditure in 2020 is

R O

-1.22
. 1.69
. 1.83
.1.45

% more than the expenditure in 2017, (round off to two decimal places)
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Objective Question
3 1653
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The following table shows the income, expenditure and profit percentage of a company for six years from 2017 to 2022. Income and

expenditure figures are in Rs. million and the percentage increase in profit percent in year 2022 in comparison to previous year is 33;% .

Based on the data in the table. answer the questions that follow.

Year-wise details of Income, Expenditure and Profit of a company

Income Expenduture
Year Profit%
(in Rs. million) || (in Rs. million)
2017 103.824 - 12%
2018 - 838 25%
2019 95.76 84 -
2020 11328 - 20%
2021 1331 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked as '-') that you are expected to calculate if required.

What is the average expenditure (in Rs. million) of the company for five years from 2018 to 20227

.93.44
. 02.88
.93.98
. 94.88

b =

o

A 41 778 arfereeT H v 2017 I Y 2022 T ©: G & (18 U U=l & ST, 879 3R A1y WiaRrd eiRid 81 3R] 3R &g & 3is =
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2017 [103.824 = 12%
2018 |- 83.8 25%
2019 [|93.76 84 -
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Objective Question

4 1654 | The following table shows the income, expenditure and profit percentage of a company for six years from 2017 to 2022. Income and

expenditure figures are in Rs. million and the percentage increase in profit percent in year 2022 in comparison to previous year is 33:% .

Based on the data in the table, answer the questions that follow.

Year-wise details of Income, Expenditure and Profit of a company

Income Expenduture
Year Profit%s
(in Rs. million) || (in Rs. million)
2017 103.824 - 12%
2018 - 83.8 25%
2019 95.76 84 -
2020 113.28 - 20%
2021 1331 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked as '-') that you are expected to calculate if required.

What is the approximate percent profit of the company till 2020 taking total expenditure and total income till the end of 2020 for all the
years taken together?

. 18.92%
.16.47%
.18.24%
.17.67%

e 41 718 aTfereeT H ay 2017 I Y 2022 T ©: GU & (U U U=l o ST, 7Y 3R A1y WiaRia ekl 81 3R] 3R o0g & e =
fifer o § 3R qd au &1 g1 & 9§ 2022 7 @y wio=ra 3 wﬁ%q@aaé% 3| ifereT 7 AU T siidsi & iy AN Ry
Ul & IR alforg:

A & AT, T AR AT BT guaR faawo

[

=

T | . e ) o (. fHieg H) Y%
2017 |103.824 = _ 12%
2018 |- 838 25%
2019 [95.76 g4 =
2020 [[113.28 = 20%
2021 1331 110 -
2022 1216 } -

femoft: aifcret § (RfRd - & WM W) $8 9H g ¢ o STaWHaraR SIS TUHT S B U gl

Tt e @t T Y DR a9 2020 F i IB P A o9 3R T ST W qY 2020 TH B! BT AL H=IE TH T2

. 18.92%
.16.47%
. 18.24%
. 17.67%
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Objective Question
51655 | The following table shows the income, expenditure and profit percentage of a company for six years from 2017 to 2022. Income and
expenditure figures are in Rs. million and the percentage increase in profit percent in year 2022 in comparison to previous year is 33;% .

Based on the data in the table, answer the questions that follow.

Year-wise details of Income, Expenditure and Profit of a company

Income Expenduture
Year Profit%s
(in Rs. million) || (in Rs. million)
2017 103.824 - 12%
2018 - 83.8 25%
2019 95.76 84 -
2020 113.28 - 20%
2021 133.1 110 -
2022 121.6 - -

Note: Some values are missing in the table (marked as '-') that you are expected to calculate if required.

If the expenditure was increased by 20% in the year 2017 in comparison to the year 2016 and profit percentage in 2016 was 25% less thas
the profit percentage in 2017, then what is the income of the company in 20167 (in Rs. million)

. 83.2020
. 85.6211
. 81.2430
. 84.2025

A 41 778 arfereeT H v 2017 I 99 2022 T ©: G & (10 U U=l & 17, 799 3R A1y WiaRid UeiRid 81 3R] 3R &g & s =
BT 3 § 9iR g av o1 o A a 2022 H CT HIRId # AR 91 33 - o §1 A 3 U sl o SR WA Gy
TRAT & SR Ao '

[

o V]

PO & 3T, Y 3R A1 BT aNaR [Jaor

T | . e ) o (. A H) T
2017 (103.824 - 12%
2018 |- 83.8 25%
2019 [|93.76 84 -
2020 [[113.28 = 20%
2021 (133.1 110 -
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Objective Question

6 1656 | Which of the following factors affect learning of learners?

A. Family structure

B. Socio-economic status
C. Cultural back-ground
D. Type of school

Choose the correct answer from the options given below:

1. A. C and D only
2.B and C only
3JAB.CandD
4.D only

FEIEd & 9 i 9 PR AR THS! S & SHETH B gHTiad B &2

A, TIRaTR® TR
B.W-W@ﬁ!
C. giepfi® g
D. [ o1 Yo R

19 feu e fasmedi @ 9 Iel STk &1 99 BI1uig:

1.PAA A, CIHRD
2. HaA B AR C
3.A.B.C3RD
4. $dd D
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4

Objective Question

71657 | 1 collabarative learning. from which of the following strategies. listening skill is developed?

1. Fish Bowl

2. Circle of Voices
3. Jigsaw Strategy
4. Case Study

file:///C:/Users/Administrator/Downloads/41_2B_Live LAW_E/41_2B_Live_LAW_E_1-150.html 7/109



6/16/23, 7:22 PM 41_2B_Live_LAW_E_1-150.html
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Objective Question

8 1658 | \fatch List T with List I1

LISTI LISTII
(Online Tools) (Functions)
. [Edpuzzle I. [Live polling & feedback

Mindmeister II. |Content Creation
. |Google Docs | ITI. [Mind Mapping
. Mentimeter IV. |Interactive Videos

] [o] [+=] Fi=3

Choose the correct answer from the options given below:

1. A-IIL, B-II. C-IV, D-I
2. A-TV, B-TIL, C-1, D-II
3. A-IL B-IV, C-I, D-III
4. A-L B-III, C-IL D-IV
=il 1% A1y G 11 1 AT PIee
R 1 (aiTeTe T 1) @)
A [TsU9d 1 [c1ga HdgH Ud Uiogiy
B [AES O 1T [[qugesg HEm
C. [rd sl 111 [ feom
D. [H<HieR IV. |3 Tepured s difsd]

i feu Tt fad el § U Ul 3R &1 94 Bl ;

AL B-I1. C-IV. D-I
- A-IV. B-11I. C-1. D-IT
AL B-IV. C-1. D-III
. A-L B-III. C-IL. D-IV
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Objective Question
9 1659 | poyifolio assessment consists of

A. Prohibit collaboration among teachers and students during the assessment process

B. Addressing the students achievements only

C. Engaging the students in assessing their progress and establishing ongoing learning goals
D. Provide students opportunities to reflect upon feeling about learning

E. Link assessment and teaching to learning

Choose the correct answer from the options given below:

.B and C only
.D and E only
.C.Dand E only
.A.Band D only

qIcpiferdl Jeuic o Qi §:

A Geip UihdT & SR [RIe] ud faenffal & dfa geam &1 -y

B. ad [qenfifal & Juaferdl W &I &

c. faenfifai ot 37et wifa & geuied & aur aRt st qadi &t _afid s § niad oA
D. 3 & Haa! § y1al TR o 3 & fore faenfefai &t g we oA

E. Hedih1 Td fRI&701 1 ST 8 Hay D

A4 feu Y fasedl o 9 UEl 3R o1 984 Sifeig:

b =

R E Y

1. FaaB AR C
2. %dd D IRE
3.%dd C, D IRE
4. FIAA.BIRD
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Objective Question

1011660 | r3iv-en below are two statements :

Statement I : According to Vygotsky. learning occurs through social interaction and collaboration.
Statement I : According to Vygotsky. scaffolding involves providing the student with all of the asnwers and solutions to a problem.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement I are incorrect.

. Statement I is correct but Statement II 1s incorrect.
. Statement I is incorrect but Statement IT is correct.

N Y]
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TR APy RTTE:
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Objective Question

11 (1661 Identify the advantages of open ended questions in survey research.

A. Respondents can answer in their own terms
B. They can be quickly administered by the interviewers
C. They allow unusual responses to be derived

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3. Aand C only
4. A.Band C

AU LY H 3fGTY YA P ATHT Bl UgIH BT
A JREMI I WI H IS TSR Sd g
B. d Ul&Th RS g1 fiear ¥ fu o g@d €1
C. d SRR I & &= B Bl A S g1

A feu 7T famed § 9 981 3R &1 9a- Biforu:

1. $adANRB
2. HIAB IR C
3. HATAIIRC
4. A.B3RC

Al
A2

A3
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Objective Question

121662 | Given below are two statements -

Statement I : Online surveys are very useful because internet users always constitute an unbiased sample of the population
Statement IT : A convenience sample is one that is simply available to the researcher by virtue of its accessibility
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement II are incorrect.

3. Statement I is correct but Statement I is incorrect.
4, Statement I 1s incorrect but Statement II is correct.

TR syERume:

YT 1 : 3HTdTgT A& 9gd YN 8d © Hif Sex-e Haiadl Fod 4P & ub Fwger ufdesf o1 gufed sz 1
FYA 11 : GAUIR 9% el § O SUe! Ay @ fO=wdT & SR Rieddl o TRaal 3 STas g Sal |
SWRIT Y & el 1, - [3U 7Y fddbedl H 3 96 Iuge IR DI 99 Biig:

HYT1 AR 11 A TEl g
L HYT 1 AR 1 S T &
L HYT I Ul 8. AT HYT I Tad §
. HYT 170 8, Afde YT 11 el B

b2 =

=
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Objective Question

1311663 | gcientific research is

A. Data driven
B. Replicable

C. Verifiable
D. Subjective

Choose the most appropriate answer from the options given below:

1. A. B and C only
2.B. Cand D only
.B and D only
LA B.CandD

L
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B. 3 Pdig
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Objective Question

1411664 | \Which of the following typer of variables would have a true zero point?

. Nominal
. Ordinal

. Interval

. Ratio

forRad =RT & WoRI H fo9d arafas = fdg g

P

T s o

Al

Rlieeg
 PHYED

Rl

Al

A2

A3

Ay
4

Objective Question
15 1665
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According to UGC regulation 2018 on plagiarism. a similarity of 14% would correspond to which of the following levels of plagiarism?

ko =
2 = O

o

IR IR1 IR [GRalaenay s=a ST f[aanT 2018 & AR 14% &1 IH=0dl Qlielde 9R1 & HEaEd R d H}
R Bl

[¥¥]

da W b2 =
[ ST

Al
A2
A3

Aty

4

Objective Question

16 1 . I ..
6 666 Communication {{bOUT conmmunication 18 CEIHE—'CI =

1. Communication narrative
2. Communication overlay
3. Metacognition

4, Metacommunication

TR & §R T Y9R &1 1 Hel §rd] 82

1. FER gid
2. IR S
SIEREIC]
SIDREIN

W

Al

A2

A3

Ay
4

Objective Question
17 1667
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Condensation symbols in political communication are -

1. Dormant

2. Evocative

3. Weak assumptions
4. Escapist

JoHIfd® SR J I9-H1 Ui

1. Y B gl

2. AEFA RS AT

3. e d e@yRont gt €1
4. TATAGEl B B

Al

A2
A3

Aty
4

Objective Question
18

1668 | Which of the following are the major criticisms of mass media as a cultural industry?

A. Mass media are pro-people.

B. Products of culture industry are standardised.

C. The productions are devoid of aesthetic merit.

D. The culture industry does uniform mass production.
E. Avoids massification of culture.

Choose the correct answer from the options given below:

.A.B. Conly
.B. C.D only
3.C.D.E ony

4.A.D. E only

e ¥ sH-0 aiepfo S & w0 § s8R Hifsa @ wa gae=am 8

A, SEIR Hifsar sremd® € B

B. UG a® FEl & 3G HFS19d 8ld 6|
C. SdTeT B Tigdaid Toi T SH1d a1 8|
D. G fde IR THHAH T3dGH Bl 6|
E. 0 & SHOHgI®HR0 9 g9l 6|

i feu T fadedl O U Wel 3wk &1 99 BIfor:

b =

1.$Pdd A, B.C
2. %4d B, C,.D
3.%Hdd C.D.E
4. PddA.D.E

Al
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Objective Question

Given below are two statements :
Statement I : The Buddhists argue that reality should be understood as a linguistic construct.
Statement IT : In today's context. we can say that reality is a media construet.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4, Statement I 1s false but Statement I is true.

TR sy faumE:

FYT 1 : 9Ig YHGA STl 1 adb o 1o gurd o1 Yt e & o § ggzn o anfeu
FHYT 1L : A & G & 50 g 9od ¢ o gurd Mfsm ot [ 21

IWIed HYH & D 4, i 13U e fadmedi & ¥ el 3wk &1 98- Dot

YT AR I SH 9T §

YT AR I SHT A B

.Y 1 93 §. Qe U 11 A B
DY A B, O pyUT 1 JA B

b =

= W

Al
A2
A3

Aty
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Objective Question

Given below are two statements :

Statement I : There is an argument that the emergance of television audiences has brought in more personalised and interactive

communication and media culture

Statement II : Within an integrated communication system, messages do not acquire the elements of communicability and socialisation.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
. Statement I 1s true but Statement II is false.
. Statement I is false but Statement IT is true.

L
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TWRISK DY & Heile H, A 13U Y f[aedl & 3 981 IR BT 997 DI
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 HYT 19T 2. AT HU I 3T B
HYT 1 AT B, AfpT YT n ga gl

b2 =

=

{\1
.A2
{\3
op

4

Objective Question
21 1671 1 43
A man X. can complete 5 of a job in 5 days and another man Y can complete 5 of the job in 10 days. In how many days both X & Y

together can complete the job?

—_
L=

[
-]
Lh | o 901 W o8 | L

3:

-
L =]

N
9

U Afdd X [l o & %Wﬁsﬁ‘rﬁﬁfgﬂm Fohdl § 3R GERI Al Y.ﬁ?ﬁ?%iﬂﬂﬁ 10 AT F QR bl g1 X iR
3T iR 3 BT o) fopels) FaetT B QR &R Wl &

L¥8) [ %) —
L= -] Rt=]

oy
-1
O|~Ith|twa ool o |w

Al
A2
A3

3

Aoy
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Objective Question
22

. 45 years

50 years
43 years
48 years

TR Gl A, B. € 3R D & 3¥d g doi= an
B A 341G BT 3 49 I8 61 ST S | E Bl

b =

S T

45aY
s0@y
43a8
.48 a8

b2 =

=

Al
A2
A3
A4

4

4

Objective Question
23 1673

-1.0,3.8.15, 247

.35
49
.39
4.23

O

41_2B_Live_LAW_E_1-150.html

1672 | Five years ago the average age of 4 persons A, B, C and D was 45 years. If another person E is included in the group, then the present
average age of all the five persons becomes 49 years. What is the present age of E?

45 99 ot | 3% e A U@ g1 oufaa E < fovan s e, o ot uig safdk
3mg fepertt &2

Find the number that can replace question mark (7) in the series given below -

-1,0, 3,8, 15, 247

.35
40
.30
23

B

Al

A2

A3
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Aty

4

Objective Question

24 1674 | A student walks 1 km in the east direction, then turns to the south and walks 5 km. Thereafter, he turns to east and walks 2 km and again

turns to north and walks for 9 km. How far is the student from his starting point?

5 km
.7 km
3.6km
4, 6.5 km

U faendf qxe &t fexn & 1 .10, I 8. forr a5 afyur &1 siR gedr & iR 5 fo ol 7ear & 1 59 a1e fo a5 IR 3 sk goa
& 3R 2 fp I, Iaa1 8 ofR O: SR 31 3R TSl 3 SR 0 b 1. o &1 307 URfe fig 3 faenef s@ fvai gl R @2

| S

s et
7fe
6 fa
6.5 T AL

b =

E V)

Al
A2
A3
A4

4

4

Objective Question

25 1675 1 certain coding language
a. MANGO' is coded as 4
b. BANANA' is coded as §
c. PEAR' is coded as 3

How MUSKMELON' shall be coded in that language?

b =
S -1 00 \O

o

MWW&

a. MANGO' &I 4 & &0 T Heag [bar ol gl
b. 'BANANA' &I 5 & U ¥ $eag [bal A1l g
c. PEAR' &I 3 & ¥ I Heds b1 oral g

T HTST H 'MUSKMELON' 1 &l ea [l ST?

b =
=1 00 D

o
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A2
A3

Ay

4

Objective Question
26 1676 | ywhich of the following statements are so related that if one of them is true. the other must be false. even though both of them can be false

A. Some adults are far-sighted

B. No adults are far-sighted

C. All adults are far-sighted

D. Some adults are not far-sighted

Choose the correct answer from the options given below:

1. Aand D only
2. C and D only
3. A and B only
4.B and C only

wuﬁﬁfﬁ?{ﬁﬁﬁm 3799 B 59 Yo Saftd ¢ o af U 9 61 ol GuT 3a=d 7Tad oI, gt gefy &1 Tad &l
A 3O U RAEGE
B. F1S 1t 90 o= T I B
c. ufi g R e 8
D. $6 0 -3 Te 81d g

A feu 7T fam ey § 9 98l SR &1 99 Bifulu:

1. HaTAANRD
2.%49d C 3R D
3. 93T A IR B
4. PIAB AR C

Al
A2
A3

Ay
4

Objective Question
27 1677
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If the statement-"Some trucks are polluting vehicles". is given as true. which of the following statements could be immediately inferred tc
be false?

. All trucks are polluting vehicles

. Some trucks are non-polluting vehicles
. Some trucks are not polluting vehicles
. No trucks are polluting vehicles

Onwe

Choose the correct answer from the options given below:

. C and D only
.B and C only
.D only

.B. C and D only

gfe HYT PO ¢ UGVl DA dIdl aTe 61d 5 T © al HErargd ¥ Y o= S| & 7Terd 814 $1 gLa SHT ail |l 9l g

A. T TP UIUIB R aTe B &

B. $% P R-UGIUIGR! aT6- 81d o
C. 39 TP UGIUIPRI ale- el eld g | _
D. 313 i TP VEuUERI a8 T 81 §

i feu U fadedi T O Il 3R &1 98 SIfeg:

B

1.%ad C 3R D
2. HAAB 3R C
3.%adD

4. %ddB.C 3RD

Al
A2
A3

Aty

4

Objective Question

28 1678 | Which of the following statements is equivalent to the following statement- "All philosophers are non-conservatives?"

. Some philosophers are not conservatives.
. No philosophers are conservatives.

3. Some philosophers are conservatives.

4. All non-conservatives are philosophers.

FrferEd d 9 oF 9 yF <@ gRiFe R-3gard g & o3 & aaqa o2

o =

1. B RS Sleardl Tgi el g
2. BIE 1t e Sfeard Agi gl &
3. 9% S Sl g §

4. @R IRIfgaEl affw ea ®

Al

1
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A2,

2

A3 5

3

Aty

4

Objective Question

29 1679 N0 one has shown that Mars was not created by the Aliens. Therefore, Mars is actually created by the Aliens". Which fallacy is invelved

i the above statement?

. Red Herring

. Hasty Generalisation
. Appeal to Ignorance
4. Begging the Question

ot 7 g Tt foaama & o der ue sl gy ffia =t fovan mman a1 safere, da ue araa & wufeal gy Ffia fear mn
21" SRIGd HYT E SI-A1d% 419 82

b2 =

(7]

 YMF Jobd (38 3
. Sffoart Im=dieR
. SATHRT T 38

, TN Y

b =

RN PN

Al
A2
A3

Ay

4

Objective Question

30 11680 | Given below are two statements :

Statement I : Aristotelian logic is verbalistic.

Statement I : For the classical Indian school of logic (nyaya) verbal form is not the essence of inference and is required only to convince
others.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
. Statement I 1s true but Statement II is false.
. Statement I 1s false but Statement I is true.

S Y]
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TR pyTRRumue:

BYT I : IRE T P 5P B

gﬂﬂ 11 : YRATT QR a7 () F ol Misias T S0 31 IR T2 & SR GERI & IHH & 08 & 399! awgadl gk
l

IRIT DY S AP 1, #4192 U foomadi & 3 98t 3R &1 997 i

HUA T AR A T §)

HUA T AR I ST ST |

 HYT 1 9 2. A HYU 11 3T g
HYT 1 T R, AP YT 1 I g

b2 =

= W

Al
A2
A3

Ay

4

Objective Question

311681 | Which of the following pairs shows an internet service and its corresponding protocol. correctly matched?

1. www - FTP

2. E-mail - SMTP

3. E-mail - FTP

4, File Transfer - SMTP

frfiREa @ 1H-91 g/ Sex-ie JaT SR S8 I9d Wield d $f 9ol &1 % Goiod axidl g2

1. & &y ey - Uit

2. S0 - THUHCIY

3. 5-Hd - THerdt

4. T3 YFR (SHR) - Tquge!

Al
1
2
A3 3
3
Ay
4

Objective Question
32 1682
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In the following MS-Excel spreadsheet. you are given a list of 100 customers. Column 'A' represents their names. 'B' is for customer
category, 'C' for payment category (0 means discounted price and 1 means full price), D' indicates price that customer pays. The example
spreadsheet below is not the actual list and simply shows different categories.

A B 6F D
1 ||Customer Name |Customer Category [Pavment Category |Price (Rs.)
2 |[Raman Child 0 0
3  |Dinesh Adult ik 5
4 |[Jashan Adult 0 2
101 |Amit Child 0 0

B

.= SUMIFS (D
.= SUMIFS (B2
.= SUM (D2 : D101)
.= SUMIFS (D2 : D101, B2 : B101, "= Adult", C2 : C101, "=1")

ffRad Ms-EXCEL TrSeie # 100 T85! 31 Gt 41 715 ¢ | WY A F 7. B & Aee 90M, <> F 1fTar goft (o &1 318 B e
T ST 3R 1 $7 312 § - T SHa) Wd ©. D’ T 98 S IId &l Ts & [ordT UTed YTTa Pedl 5| 14 &1 75 TSl & Iapt
# arfae It e © SR 7% o= AT} 31 weffd dRar g

Which of the following formula would indicate the total amount paid by customers who are adults but do not get discounted price?

2: D101, B2 : 101, = Adult, C2: C101, =1)

: B101." = Adult", C2 : C101, "=1", D2 : D101)

A B (i D
1 |[E® ® A ded 90T [FEE AT [BiEd (B)
2 = EIGCE 0 b
3 e EeE 1 5
4 |o=E ERd 0 b
101 |3rf ELSEZ 0 o B

B

Al

A2

A3

A4

33 1683
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.= SUMIFS (D2 : D101, B2 : 101, = Adult. C2: C101, =1)

.= SUMIFS (B2

.=SUM (D2 :

.= SUMIFS (D2 : D101, B2 : B101, "=Adult". C2 : C101. "=1")

4

4

Objective Question

D101)

: B101.," = Adult", C2 : C101, "=1", D2 : D101)

ARG & S1H-91 Y3 905 Ue®i gkl WIAH &1 7Ts $al 0121 HEIRId ST ¢ (o514 B¢ W $IHd IR YW el [T g2
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Given below are two statements :

Statement I : The www is the largest computer network in the world, with millions of computers connected to each other.

Statement IT : Web pages are stored on web servers, which are always connected to the Internet so that people can view their pages 24
hours a day.

In the light of the above statements. choose the most appropriate answer from the options given below :

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.

ﬁ%aﬁmﬁnﬂﬂ%

BYA1: WWW (G99 BT sI9sad SR 4ead ¢ forad aral (THem=y) $er UH-ga 3 oS gu g |

HYTI - %ﬂﬁw%%wﬁaaﬁ%ﬁﬂ%még@aﬁ%ﬁﬁﬂu@ﬁ?mam’lraaﬂaa@ﬂﬁ%l
IR FYH & AP 4, i f3U U fddbedi & U gl 3ok &1 98- P

b2 =

o

PYT1 AR I SH TT &)

YT HR 1 SHT 3T 8|

YT A . Ao DY 11 3 FA B
DUTI A B, Ao pUT 1 A 8|

b =

= W

Al

A2

A3

Aty

4

Objective Question

34 /1684 Identify the correct order of the words A - D given below to complete the paragraph about internet security.

Illegal access to a computer system is known as are programs that self-replicate and are designed to disrupt
computer systems. 1s where a user is sent lcom.mate looking emails: as soon as the email is opened and the recipient clicks on

the embedded link, they are sent to a fake website. Sofm are that monitors key presses on a user's keyboard. and relays the information
back to the person who sent the software, is known as

A Phishing
B. Hacking
C. Spyware
D. Viruses

Choose the correct answer from the options given below:

1.4, B; €
2. BLADE
3.B.D.A.C
4. C.D.A.B
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S AT D TR T A< fGU 0 =3¢ D1 W B o Tsal A-D & el ThH B UgdH HIToIg:

PR ey ¥ oFfgd Siftnm o FHETH AR A E 4l T § 5 W-afadia € SR e e &l
CIEREEGE] a5 & 76! U@ YaTad] B def 5-0a WSl Ofdl 8, 50 81 5-Ha GIe ordl & SiR Wil 14U 11U i W fGas
PRl & 3% e degIge Yol f&a1 ST €| 98 QFedtR, Ol UUiadl ] ®1-a1s R &1 gaF &I AFic Hdl &, AR 39 sfdd o
AT 1 TN SRl & foras QToedaR Sol T, 59 RIS |

A, TR
B. g
C. B
D. AR
At fau U fadeul © 9 9l 3R &1 99 SIfelt:

I._J!—A
0w
goruU
PP O
o' NeoNoNe]

o

{\1
fAZ
53
My
4

Objective Question

35 11685 | \fateh List I with List IT

LISTI LISTII
(Description) (Internet Techinical Term
A_ [Numerical ID of 32-bit or 128-bit device on the internet I [Virtualization
B. |Unique ID for a network wnterface card (NIC) II. MAC address
C. JAn arrangement whereby a user remotely accesses software, hardware, or other resources via a browser| II1. |I[P address
D. |The process of running multiple machines on one physical server IV. |Cloud Computing

Choose the correct answer from the options given below:

1. A-IIL B-IV. C-II. D-1
2. A-L B-II. C-IV. D-III
AL B-IIL. C-IV. D-I
. A-IIL B-IL. C-IV, D-I

o
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=it 13 1Y Gl 11 1 o Bifeg
11 3cTAc aPaTa!
= 1 (e o =
A Boe W A [$a159 & A 32 e orvar 128 fae @ wifere ™ smgat i ; f%ﬁmﬂm,
B. [Hedd 33hd Bl gd [dINF Hgal 1. [THUd U2d
c [F HaRI o Tordl e &1 ST o HIH U TIRadR, ZIeddy HYal A= GuIeH! dd giddi Ugd m pEd T
(T Bl E | 2
D. [t& Hifd® TR W 3% T &l Saliad ® ®l Tl vV |3 S SrEe
= fau 7Y faeed! & A 961 SR 31 =0 DI
1. A-IIL B-1V, C-II, D-I
2. A-L B-II, C-IV, D-III
3. A-IL B-III, C-IV, D-I
4. A-TII, B-II. C-IV, D-I
Al
1
A2
2
A
3
Ay
4

Objective Question
36 1686 | which among the following are sources of Volatile Organic Compounds (VOCs)?
A Vehicles
B. Plants
C. Termites
D. Power Plants
E. Bogs

Choose the most appropriate answer from the options given below:

1.Aand D only

2. A, Band D only
3.A.B.Dand E only
4 A B.C.DandE

L BIaf-d TS (VOCs) & Hid fAEfaied § 9 &H 9 82

A.TTEA
B.UlqU
c.dH®
D. fagga 9

E. atiad

A4 fGT T fde el & 9 9ad SUgad SR BT 90 DI

1. FAAAIRD

2. HIAT A, B3RD
3. 9AU A, B.D 3RE
4.A.B.C.D3RE
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Al

A2

A3

Ay

4

Objective Question

37 ||1687 pH. an important water quality parameter,

. is a measure of acidity on water.

. 13 a mesure of basieity in water.

. can have value only upto 10.

. represents the concentration of hydrogen ion.

. whose value '0" (zero) confirms that water is potable.

mdnwe

Choose the most appropriate answer from the options given below:

.A. Cand E only
.A.Band D only
.C.Dand E only
.B. C and E only

TS HE@yU! i T[uiaT Wiad Uied (pH) :

O

A 5d H A H AT g

B. OId § &R&dl &1 A g

C. BTHMF 10 9P &l IHd1 g

D. BIZSIoH a1 &I A5l DI UEgd bl 6

E. &1 0 41 Y (0) § o 78 YiP Bl § I &Ie1 Ui A1 g

1 feu e fomedl & 9 9a8 Suged SR B 99 DI

1. $aAA. C3IRE
2. HIAA.B IR D
3. H9dC, D IRE
4. %9 B, C 3IRE

Al
1
A2
2
A3 3
3
Ay
4

Objective Question
38 1688
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Given below are two statements :

Statement I : Recyeling drastically reduces pressure on landfills and incinerators.

Statement I : Recyeling inereases demands for raw resources.

In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II is false
4, Statement I is false but Statement II is true

9 S pyE Ry E:

FYA 1 : TTIHU D aoe U PRI-HRTs AT SR Y R §F a1 3614 B 3= ST 3Tl g
TUF 11 : TTIPUI D1 Gorg o SR Sl I 77 Tgai ¢

TR DY & 3Heils H, 1 13U 7Y fasedi & F 981 TR BT 997 DIog:

HYTI AR U SH T &
HYT1 AR U AT 3T ©

PYT I I S, AT HYT 1 3A ©
PUYT 3T R, AP euT ndd e

b =

W

Al

A2

A3

Aty

4

Objective Question
391689 | chlorofluorocarbons (CFCs), important green house gases.
. are toxic

. vaporize just below room temperature

. are flamable

. are very stable

. destroy ozone

e llw e W ve e

Choose the most appropriate answer from the options given below:

.A. B and C only
.B. C and D only
.B.D and E only
. C. D and E only

R

file:///C:/Users/Administrator/Downloads/41_2B_Live LAW_E/41_2B_Live LAW_E_1-150.html 28/109



6/16/23, 7:22 PM 41_2B_Live_LAW_E_1-150.html

FIRIFARIPTE (CFCs), eI U4 grew T4,

A fouraa it €1

B. PR & dI9gH I < arasH § aifiyd g Sidl €1
C. SaoEid Bict B

D. §gd RR A T

E. 3fIoi9 &1 75 St o

A= feu ¢ fased! © U gad Suged SR B 994 DIE:

1. FAAA, B3R C
2. %dd B, C AR D
3. %dd B, D 3IRE
4.FaAC,DIARE

Al
A2
A3

Ay

4

Objective Question
40 1690

Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : In concentrating type solar collector temperature can be raised upto 500°C.
Reason R : In concentrating type solar collector, the magnitudes of collector area and absorber area are numerically same.

In the light of the above statements, choose the most appropriate answer from the options given below :

.Both A and R are correct and R is the correct explanation of A

. Both A and R are correct but R is not the correct explanation of A

. A 1s correct but R 1s not correct

. A is not correct but R is correct

2 1 YA AU T T TP HDHYT (Assertion A) & =9 H IRdd T 1 TR TGP SRUI (Reason R) F T T:
UUHUT A : GHd UPR & GR TIES § aI9qH &I 500° S 05 9/ o Ihdl g

PRUIR : Feblod HPR & GR TAEP § GUTP &7 3R AP &7 & IRH TS =P S T e o
SRITd DY P A1l H, e AU e fawedi § I 961 SR BT 99 DI

o =

S T

 ARRIATTUE IRR AT T AR ©

A JRRIA UL, OB R, AD] Tel ARATT81 &
AFIEAfPTIR 3T '
ATI T ABPIRTAR

b =

=W

Al

A2

A3
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Objective Question

411691 1) the earlier days of higher education in India, the focus was mostly on disciplines of

1. Agriculture
2. Medicine
3. Arts

4, Law

YRA H I=aoR W& & WRINS Pra § SfediRa: foo- fowal o e fear mar an

L3N
2. Fafaran
3. %l
4. fafg

Al
A2
A3

Aty

4

Objective Question
42 11692 | What were the initiatives during the second five year plan to improve technical education in India?
A. Closure of non-performing engineering colleges
B. Establishment of IIT at Madras
C. Schemes for improvement of existing technical institutions
D. Stipend-based training programme for outstanding students at select technical institutions in the country
E. Plan to establish a central institute for printing technology.

Choose the correct answer from the options given below:

1.A.B. Conly
2.A C.Donly
3.A.B.E only
4.B.C.D. E only
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YRA 1 do-te! a1 ¥ GUR 3 & o i d9adla a1 & SR Fa1-91 964 i 7T 2t

A IR-FUEASR] giliHafar Sidsl o §g B

B. U5 o 315 315 21, &1 R0

C. TIGIaT a1t H=IHI & R Bt o141

D. 35X 1 gf-ia1 asp-iie! Gl T ugHar Sobs Sl & 1Y SHEgRT WiRI& srisd emd|
E. a0l Wit & (AU Saia G4 A1iud $3 $1 gisH|

i feu 7T faedl O 9 98l SR &1 =994 Biferg:

1.$dd A, B, C
2. H9AA.C.D
3. %dd A B.E
4.%ddB,C.D.E

Al
A2
A3

Ay

4

Objective Question

43 1693 | Given below are two statements :

Statement I : The idea of abolition of regulatory bodies of education like UGC, AICIE and NCTE is based on the assumption that such
multiple bodes are redundant.

Statement IT : The Bar Council of India has opposed the idea of abolition of regulatory bodies as it would affect its role as the apex
regulatory body of legal professionals in India

In the light of the above statements. choose the correct answer from the options given below :

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II is false.
4. Statement I is false but Statement II is true.

RIS ATl I

aﬁigr{; o, qé}n‘s‘@ﬂé’ri AR . 2. R e & Frame Feal & 370 @1 fG9R $9 SauRon 1R $1e1id § i T3 9g5¢
SATaEE B

PYF I : IR DI AP 31547 A e Heml &1 3 S & [daR o1 {aR1Y a1 41 w9ife 3898 YR | fafdy sgaunias

DI TG e Fe/E & =9 § 9o e IR Hided YHE 99|

SWRIT BY & el H, =i i3 T fadbedi § H 9El IR S99 DT

[ SR

YA AR A T §)
PUAT AR I ST ST |

PYT1 I . AP HYT 11 A 8|
PYT1 T 8, AT pUT 1 A B

b =

= W

Al

A2
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A3

3

Aty

4

Objective Question

44 11694 | At which of the following ancient place of higher learning did the famous royal physician Jivaka, who had cured the king Bimbisara

study?

. Takshashila

. Kanchi

. Jayender Vihar
. Vallabhi

ffefad 8 O fog uEF S=ar [Wem JwimE 3 uiig wnel e oae, i gure f[9aaR &1 Su9R foear o1, = e urd
3l U

b =

Lo

LIRS
Rk

S fagR
. aeardt

ko =

W

{\1
'A2
63
Ay
4

Objective Question

45 11695 ywho among the following enunciated a new policy on agriculture and created a central institute at Pusa?

. Loard Ripon
. Lord Lensdowne
. Lord Curzon
. Lord Linlithgow
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Objective Question

46 11696 | pead the passage and answer the questions that follow:

Earlier this week, European Union (EU) lawmakers laid the groundwork for the rollout of its proposed carbon border adjustment
mechanism from 2026. Essentially a carbon border tax, it is shrouded in green principles of pricing carbon, reducing emissions and
preventing carbon leakage to combat global warming. But in reality it is nothing but a tax against emerging economies like India
exporting to the EU. Trure, the European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and
secks to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of carbon-intensive goods sucl
as aluminium, steel, cement, fertilisers and electricity it 1s imposing European emission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate action. The rich countries o
the global north bear historic responsibility for global warming. But after having achieved a high standard of living through centuries of
polluting industries, they now want to slam the development door shut on the rest of the world. Further exemplifying this hypoerisy is the
fact that when the Ukraine war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus. rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing nations transition to low-
carbon pathways. Thus, India is right to object to the EU carbon tax. It should prepare retaliatory measures, including taking the matter to
World Trade Organization (WTQ) and flagging it as a non-tariff barrier.

European union’s carbon border tax will come into effect.

. From 2030

. Immediatley
3. After a decade
4. From 2026
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Objective Question

47 1697 | Read the passage and answer the questions that follow:

Earlier this week, European Union (EU) lawmakers laid the groundwork for the rollout of its proposed carbon border adjustment
mechanism from 2026. Essentially a carbon border tax. it is shrouded in green principles of pricing carbon, reducing emissions and
preventing carbon leakage to combat global warming. But in reality it is nothing but a tax against emerging economies like India
exporting to the EU. Trure, the European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and
seeks to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of carbon-intensive goods suel
as aluminium. steel, cement, fertilisers and electricity it is imposing European emission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate action. The rich countries o
the global north bear historic responsibility for global warming. But after having achieved a high standard of living through centuries of
polluting industries, they now want to slam the development door shut on the rest of the world. Further exemplifying this hypoerisy is the
tact that when the Ukraine war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus, rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing nations transition to low-
carbon pathways. Thus, India is right to object to the EU carbon tax. It should prepare retaliatory measures, including taking the matter to
World Trade Organization (WTO) and flagging it as a non-tariff barrier.

The amlitions climate targets of the European bloc aim to

A. Withdraw free corbon allowances for its most polluting industries
B. Reduce emessions

C. Prevent carbon leakage

D. Use coal when energy prices rise

Choose the correct answer from the options given below:

.A.B and D only
.B and C only
.Cand D only
.A.Band C only
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Read the passage and answer the questions that follow:

Earlier this week, European Union (EU) lawmakers laid the groundwork for the rollout of its proposed carbon border adjustment
mechanism from 2026. Essentially a carbon border tax. it is shrouded in green principles of pricing carbon, reducing emissions and
preventing carbon leakage to combat global warming. But in reality it is nothing but a tax against emerging economies like India
exporting to the EU. Trure, the European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and
seeks to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of carbon-intensive goods sucl
as aluminium. steel, cement, fertilisers and electricity it is imposing European emission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate action. The rich countries o:
the global north bear historic responsibility for global warming. But after having achieved a high standard of living through centuries of
polluting industries, they now want to slam the development door shut on the rest of the world. Further exemplifying this hypoerisy is the
fact that when the Ukraine war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus. rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing nations transition to low-
carbon pathways. Thus, India is right to object to the EU carbon tax. It should prepare retaliatory measures, including taking the matter to
World Trade Organization (WTO) and flagging it as a non-tariff barrier.

Given below are two statements :

Statement I : The European block seeks to impose European emission standards on emerging economics

Statement IT : Rich nations are helping the developing nations transition to low-carbon pathways through climate funding.
In the light of the above statements. choose the correct answer from the options given below :

Both Statement I and Statement II are true.
Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II 1s true.
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Objective Question

Read the passage and answer the questions that follow:

Earlier this week, European Union (EU) lawmakers laid the groundwork for the rollout of its proposed carbon border adjustment
mechanism from 2026, Essentially a carbon border tax, it is shrouded in green principles of pricing carbon, reducing emissions and
preventing carbon leakage to combat global warming. But in reality it is nothing but a tax against emerging economies like India
exporting to the EU. Trure, the European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and
secks to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of carbon-intensive goods sucl
as aluminium, steel, cement, fertilisers and electricity it is imposing European emission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate action. The rich countries o
the global north bear historic responsibility for global warming. But after having achieved a high standard of living through centuries of
polluting industries, they now want to slam the development door shut on the rest of the world. Further exemplifying this hypoerisy is the
fact that when the Ukraine war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus, rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing nations transition to low-
carbon pathways. Thus, India is right to object to the EU carbon tax. It should prepare retaliatory measures, including taking the matter to
World Trade Organization (WTO) and flagging it as a non-tariff barrier.

The following exemplify the hypoerisy of the European Union's imposition of carbon tax

A. Rich countries of the global north have achieved a high standard of living through centuries of polluting industries.
B. Rich countries now wish to hamper the development of the emerging economies.

C. Rich countries violate the principle of common but differentiated responsibilities of international climate action.
D. Rich countries are not imposing European emission standards on emerging economies.

Choose the correct answer from the options given below:

. Aand B only

.A.Band D only
.B. Cand D only
.A.B and C only

b =
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Read the passage and answer the questions that follow:

Earlier this week, European Union (EU) lawmakers laid the groundwork for the rollout of its proposed carbon border adjustment
mechanism from 2026. Essentially a carbon border tax. it is shrouded in green principles of pricing carbon, reducing emissions and
preventing carbon leakage to combat global warming. But in reality it is nothing but a tax against emerging economies like India
exporting to the EU. Trure, the European bloc has ambitious climate targets of cutting greenhouse gases by 55% over this decade and
seeks to withdraw free carbon allowances for its most polluting industries. However, by targetting imports of carbon-intensive goods sucl
as aluminium. steel, cement, fertilisers and electricity it is imposing European emission standards on emerging economies.

This is a clear violation of the principle of common but differentiated responsibilities of international climate action. The rich countries o:
the global north bear historic responsibility for global warming. But after having achieved a high standard of living through centuries of
polluting industries, they now want to slam the development door shut on the rest of the world. Further exemplifying this hypoerisy is the
fact that when the Ukraine war pushed up energy prices last year, EU nations had no qualms falling back on dirty coal.

Plus. rich nations have done little to mobilise the targeted $100 billion for climate funding to help developing nations transition to low-
carbon pathways. Thus, India is right to object to the EU carbon tax. It should prepare retaliatory measures, including taking the matter to
World Trade Organization (WTO) and flagging it as a non-tariff barrier.

India is right to object to the European Carbon tax because

A Tt will affect its economic growth

B. India is not concerned about global warming

C. Rich nations have yet to molize $ 100 billion for climate funding to help developing countries transition to low-carbon pathways
D. Rich countries of the global north bear historic responsibility for global warming

Choose the correct answer from the options given below:

.B and C only
.Aand D only
.A. Cand D only
.A.Band D only

B
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S1 38001 e theory of 'Separation of powers' is credited to:

1. Aristotle

2. Locke

3. Montesquicu
4, Kelsen

Tl & GUTPROT BT HGid & BT 49 5 v g2

1. 3R
2. @

3. AleER
4. P

file:///C:/Users/Administrator/Downloads/41_2B_Live LAW_E/41_2B_Live LAW_E_1-150.html 40/109




